

Tuesday

2.1.3 c43 C117

15 June 2021

$$1. \quad \frac{5}{6} - \frac{3}{6} - \frac{1}{6}$$

$$= \frac{5}{6} - \frac{3}{6} - \frac{1}{6}$$

$$= \frac{1}{6}$$

$$2. \quad \frac{7}{8} - \frac{1}{2} - \frac{1}{8}$$

$$= \frac{7}{8} - \frac{4}{8} - \frac{1}{8}$$

$$= \frac{2}{8} = \frac{1}{4}$$

$$3. \quad 7\frac{3}{4} - \frac{1}{2} - 3$$

$$= 7\frac{3}{4} - \frac{1}{2} - 3$$

$$= 4\frac{3}{4} - \frac{1}{2}$$

$$= 4\frac{3}{4} - \frac{1}{2}$$

$$= 4\frac{3}{4} - \frac{1}{2} = 4\frac{1}{4}$$

$$4. \quad 4\frac{1}{4} - \frac{6}{7} - 1$$

$$= 4\frac{1}{4} - \frac{6}{7} - 1$$

$$= 3\frac{1}{4} - \frac{6}{7}$$

$$= 3\frac{1}{4} - \frac{6}{7}$$

$$= 3\frac{1}{4} - \frac{6}{7} = 2\frac{11}{28}$$